
12
3 

So
ut

h 
Fr

on
t S

tre
et

M
em

ph
is

, T
en

ne
ss

ee
   

38
10

3
TE

L:
   

   
   

   
   

   
   

   
   

   
  F

A
X

: (
90

1)
 4

95
-8

96
9

A
rc

hi
te

ct
:

A
u

t
o

Z
o

n
e

 
S

t
o

r
e

 
N

o
.

Fo
r B

id
di

ng
 &

 C
on

tra
ct

or
 In

fo
rm

at
io

n 
C

on
ta

ct
: 

C
in

dy
.se

ar
cy

@
co

ns
tru

ct
io

n.
co

m
D

od
ge

 D
at

a 
&

 A
na

ly
tic

s. 
 T

el
. 4

13
-9

30
-4

21
5

5
1

3
2

7
7

7
 
C

R
A

N
S

T
O

N
 
S

T
R

E
E

T

C
R

A
N

S
T

O
N

R
I

0
2

9
0

7

90
1-

49
5-

87
06

MHUB

11/30/21

PH
IL

LI
P P

EC
OR

D

C
O

L
O

R
 
E

L
E

V
A

T
I
O

N
S

CE-1

AutoCAD SHX Text
EXTERIOR ELEVATION - FRONT

AutoCAD SHX Text
EXTERIOR ELEVATION - RIGHT SIDE

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
COLOR SCHEME DETAIL

AutoCAD SHX Text
BLACK COPING

AutoCAD SHX Text
WHITE

AutoCAD SHX Text
MED GREY

AutoCAD SHX Text
DK GREY

AutoCAD SHX Text
DK GREY

AutoCAD SHX Text
RED

AutoCAD SHX Text
WHITE

AutoCAD SHX Text
ORANGE

AutoCAD SHX Text
WHITE

AutoCAD SHX Text
EXTERIOR ELEVATION - REAR

AutoCAD SHX Text
3

AutoCAD SHX Text
EXTERIOR ELEVATION - LEFT SIDE

AutoCAD SHX Text
4

AutoCAD SHX Text
R  COPYRIGHT 2007

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
3

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
REVISIONS

AutoCAD SHX Text
DATE

AutoCAD SHX Text
created by Donald Downs for AutoZone 11-27-2007

AutoCAD SHX Text
+16'-2"

AutoCAD SHX Text
JOIST BEARING

AutoCAD SHX Text
RED STOREFRONT WITH BLACK OPAQUE GLASS

AutoCAD SHX Text
COMMERCIAL DOOR WITH VISION GLASS

AutoCAD SHX Text
8' LONG X 3' WIDE METAL AWNING

AutoCAD SHX Text
WALL PAK LIGHTS

AutoCAD SHX Text
RED STOREFRONT WITH BLACK OPAQUE GLASS

AutoCAD SHX Text
HUB / RECEIVING DOORS

AutoCAD SHX Text
FACTORY FINISH OVERHEAD DELIVERY DOOR

AutoCAD SHX Text
PAINT SCUPPERS & DOWNSPOUTS TO MATCH WALL COLORS

AutoCAD SHX Text
60" CHANNEL LETTERS & STRIPES SIGN SIGN AREA = 242 SF

AutoCAD SHX Text
+16'-2"

AutoCAD SHX Text
JOIST BEARING

AutoCAD SHX Text
+16'-2"

AutoCAD SHX Text
JOIST BEARING



JOB #: 000000-R0
DATE: 00.00.0000

DESIGNER: Jeneé Sotka

SALES REP: XXX

PROJ MGR: Jamie De Vos DESIGN PHASE: CONCEPTUAL

Site #

CITY, STATE ZIP
DATE

DATE

QC

LANDLORD APPROVAL 

CLIENT APPROVAL
00.00.00
00.00.00
00.00.00
00.00.00
00.00.00
00.00.00
00.00.00
00.00.00
00.00.00
00.00.00

XX
XX
XX
XX
XX
XX
XX
XX
XX
XX

XXXX
XXXX
XXXX
XXXX
XXXX
XXXX
XXXX
XXXX
XXXX
XXXX

1
2
3
4
5
6
7
8
9

10

SHEET NUMBER

SQUARE FOOTAGE: 250

FRONT VIEW
SCALE: 3/16”=1’-0”

1.0

60RS  FACE LIT CHANNEL LETTERS w/ STRIPES  (Qty 1)

LED LAYOUT
SCALE: NTS

*FOR ALL OTHER WALL CONDITIONS NOT LISTED ON THIS APPROVED FASTENER SCHEDULE, INSTALLER IS TO DETERMINE 
A SUITABLE METHOD OF ATTACHMENT FOR SIGNAGE AND OBTAIN APPROVAL FROM IMAGE NATIONAL SIGNS.

*IF INSTALLER IS UNSURE OF A METHOD, IMAGE NATIONAL SIGNS MUST BE CONSULTED. FOR ALL ATTACHMENT METHODS, 
INSTALLER MUST ADHERE TO GUIDELINES ON USE AND SITE PREPARATION RECOMMENDED BY FASTENER MANUFACTURER.

TILT-UP CMU - EMBED A MINIMUM OF 3” 3/8” DIA RED HEAD LARGE DIAMETER
TAPCON FASTENER

WALL SYSTEMS

WOOD, CONCRETE BLOCK OR EIFS

METAL OR EIFS

CONCRETE, MASONRY AND BRICK 
 - EMBED A MINIMUM OF 3”

APPROVED FASTENER

3/8” THREADED ROD THRU-BOLT
w/ NUT & WASHER

3/8” THREADED ROD THRU-BOLT w/ 
TOGGLE ANCHOR

3/8” DIA. LAG w/ 3/8” SHIELD & WASHER

NIGHT VIEW
SCALE: NTS

4”

5”

5”
1”

1”

2” GAP IN BACK PANEL
TO ALLOW ACCESS TO
ELECTRICAL WHIPS

8
5

6

BUILDING
FASCIA

SECTION DETAIL
SCALE:  NTS

3

4

10

7

11 9
14
13

12
15

1

2

COLORS/FINISHES

V-3 3M 3630-143 POPPY RED TRANSLUCENT VINYL

P-7 SW 6091 RELIABLE WHITE
P-8 GLOSS BLACK

8’-0”

49’-11 3/8”

5’-
0”

30’-2 1/2”

MATERIAL LIST
366 Mod

466 Mod

8 Ea

235 Ft

62 Ea

62 Ea

30 Ea191600041

GEMXPO-1

GEMXRD-1

GEPS12-60U-NA

9409

192160005

191600041

Supply Wire

End Caps

LED
Module

Power 
Supply

Choose one wire
connector

183 Ft

233 Ft

1

Modules

81

52

36

52

84

52

55

54

T

O

GEMXRD-1

A

Z

U

O

N

E

1

1

Modules

12

14

18

26

41

52

56

147

MATERIAL BREAKDOWN
P/SGEMXPO-1

S3

S4

S5

S1

S2

S6

S7

S8 1

P/S

1

1

1

1

SPECIFICATIONS
  1.  3/16” THK PIGMENTED PLEXIGLAS RED 2662 AUTOZONE LETTERS
  2.  AUTOZONE LETTERS INTERNALLY ILLUMINATED w/ GE TETRA MAX RED LED
  3.  3/16” THK PIGMENTED PLEXIGLAS ORANGE 2119 AUTOZONE STRIPES
  4.  AUTOZONE STRIPES INTERNALLY ILLUMINATED w/ GE TETRA MAX ORANGE LED
  5.  5” PRE-FINISHED .040 BLACK/WHITE ALUMINUM RETURNS LETTER LOCKED/STAPLED
       TO BACK AND CAULKED / INSIDE OF LETTERS AND STRIPES TO BE WHITE
  6.  1” GLOSS BLACK JEWELITE TRIM FASTENED TO LETTERS & STRIPES w/ MINIMUM 
       #8 SHEET METAL SCREWS PAINTED P-8 / SPACING SHALL NOT EXCEED 18” / NO FEWER 
       THAN FOUR (4) SCREWS PER FACE
  7.  PRE-FINISHED .063 BLACK/WHITE ALUMINUM BACKS LETTER LOCKED/STAPLED TO
       RETURN AND CAULKED / INSIDE OF LETTERS AND STRIPES TO BE WHITE
  8.  WHITE ALUMINUM TAB w/ ® VINYL APPLIED FIRST SURFACE V-3
  9.  AUTOZONE REQUIRED MOUNTING HARDWARE: TOGGLE BOLTS-EIFS WALLS OR
       MASONRY LAGS-CMU/MASONRY WALLS / JONES SIGN WILL SUPPLY THIS HARDWARE
       (REFER TO WALL SYSTEMS w/ APPROVED FASTENERS CHART)
10.  1/2” FLEXIBLE CONDUIT / GREEN FIELD
11.  1/4” DIA WEEP HOLES
12.  120V - 20 AMP PRIMARY ELECTRICAL CONNECTIONS / TO BE MADE BY LICENSED
       ELECTRICAL CONTRACTORS
13.  UL APPROVED ELECTRICAL SHUT OFF SWITCH
14.  TETRA POWER SUPPLY MOUNTED TO BOTTOM OF TRANSFORMER BOX
15.  INTERIOR RACEWAY AS NEEDED: 4” x 5”H x .063 WHT/WHT ALUMINUM BREAKFORMED 
       INTERIOR TRANSFORMER BOX w/ REMOVABLE FACE / PAINTED P-7

NOTES
- ALL VISIBLE SCREW HEADS & POP RIVETS PAINTED P-8

AZ1CL60-599-5LINT
AZ1CL60-599-5LEXT


	Sheets and Views
	Model


